Catalog

10 - Sheet Metal Hardware Kits

M670 Super
ZB

uB

GB

335, 445

Jet Star, 4 Star, 4 Star Super

5-Star

Gvi

M5

M602, M604
G704, G705, G706
G707, G708
JetStar3, JetStar3 Super
U302

M670

(G900, G1000
G1000 Vista

(G950, G1050, G1350, 2155

A4T, 2655

MM G955, G1355; Oliver 1870, 2270

11 - Sheet Metal Parts
U302, M670, G900, G1000, G1000V

letter models

W354
W322
W323
W324
W331
W333
W334
W335
W342
W343
W344
W345
W351
W352
W353
W355
W356
W363
W364
W374

10A23225
TM1983A

U302 (27601301 & up), M670 (299018 10A23417
U302 (27601301 & up), M670 (299018 10A23419

335, 445, 5 Star, JetStsr
U302, G900

U302, G900

U302, G900

M670, G707/8

G900

G900

(G955, G1355

M670, M670S

M670

13 - Button Plugs
(G955, G1355

(G950, G1050, G1350, A4T, 2655, 215

Gvi
MM
(G955, G1355
(G955, G1355
(G955, G1355

14 - Grommets

Gvi, UB
Bill Martinson 701-238-1143

10A10106
50A2633
51A2633
50A2634
50A4705
1122
1123
W516
10A22030
10A22393

1216
1219
1214
1226
1220
1215
1224

50A4803
GM117974

Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal
Hardware Kit, Sheet Metal

Latch, Hood to Panel

Latch, Spring Draw

Receptacle, Stud Assy Quarter Turn

Stud Assy, Quarter Turn

Bumper, Rubber - Grille

Screw, 5/16 - 18 x 3/4 HWH Typ F (GM172455)
Screw, 5/16 - 18 x 3/4 Unslotted Indented HWH
Screw, 5/16- 18 x 1 HWH Typ F

Screw, 5/16 x 1-1/4 Self Tapping HWH Typ F
Washer, 5/16 Flat Nylon

Washer, 1/4 Flat Nylon

Dash Screw Kit

Washer, 13/32 ID x 15/16 OD

Washer, Rubber

Plug, Button 3/4 Dia. Hole
Plug, Button 3/8 Dia. Hole
Plug, Button 5/8 Dia. Hole
Plug, Button 1 Dia. Hole
Plug, Button 9/16 Dia. Hole
Plug, Button 3/4 Dia. Hole
Plug, Button 7/8 Dia. Hole

Grommet, 1/4" ID
Grommet, Rubber 3/8" ID (58A4810)

www.classictractorhardware.com

Classic Tractor Hardware

M670 Super

Gvi

(955/1870, G1355/2270

includes #6 mounting hardware

includes #10 mounting hardware

grille screen: receptacle and lock nut

grille screen: stud, lock washer, nylon shim
use 106104A

sheet metal

sheet metal

protects paint under hood screw
protects paint under hood screw

4 per tractor
Front side panel; 8 per tractor; used with washe

hydraullic valve;
instrument panel
FWA shifter
plated steel
instrument panel

Page 1 of 4



Catalog

1B7362
Gvi,R,Z,U 10A10110
G704-G708 10A14357

20 - Fenders, Platform, Seat

(G950, G1050, G1350, G955, G1355  E849
30-3042340
(550-G1350, G955, G1355 S451

(1000, G900, M670, U302, Jet Star 3 10A18106
(955, G1355 30-3016463
(G1000V, G1000, G900, M670, U302, J 10A20260
(G1000V, G1000, G900, M670, U302, J 10A20261
(G1000V, G1000, G900, M670, U302, J 10A20224
(G1000V, G1000, G900, M670, U302, J 50A5095
(G950, G1050, G1350, G955, G1355  S452

M670, M670S, U302 10A22024

M670. M67S. U302 10A22024-3D

M670 10A22392

M670, M6, 70S 10A26507
159815A

(G955, G1355 T451

21 - Control Knobs & Grips

335, 445, 5Star, JetStar, 4Star 10A13578

Gvi, G704, G705, G706 hydraulic 10A14759

many 10A24804
1358

many uT223

all but Vista 103098A

335, 445, JetStar, JetStar 3, 5 Star, M6 10A7402
335, 445, JetStar, JetStar 3, 5 Star, M6 10A7714
335, 445, 5 Star, Jet Star, 4 Star, U302 10A8795
all non-letter models 1256

Gvi thru G708 clutch; Gvi-G1350 FWA 15A9581

22 - Fuel Sticks

R, U V311
VA V312
G V314
30 - Engine
G1355 B167
G1355 B168
UB 1254
Letter models C273
(G850, G940, G955, G1355 30-3157121
1330
1331

JS3 (4), U302 (4), MB70 (), G900 (4), 35A5887

32 - Engine Air Intake
7K412
Bill Martinson 701-238-1143

Grommet, Rubber 5/8 OD x 1/4 ID x 1/16 Gr
Grommet, 1-1/8 OD x 5/8 ID x 1/16 Gr (No. 9)
Grommet, Panel Support

Bumper, Rubber

Handle, Mounting Instr Panel

Hardware Kit, Fender Fuel Tank Trim
Grommet, Wheel Guard

Pad, Vibration Dampener 2-3/4" OD x 3/4" ID
Grille, Wheel Guard - no hole

Grille, Fender - one hole

Grille, Fender - two holes

Screw, No. 10 - 24 x 3/8 HWH Tapping Typ F
Hardware Kit, Fender Fuel Tank Rubber Mount 10
Mount, Rubber

Mount, Rubber

Mounting, Flexible 5/16

Mount, Rubber 3/8" studs

Bearing, Flanged Bronze

Hardware Kit, Seat Cushion - '50, '55 Series

Knob, Shift Lever

Grip - Hand Lever, Rubber
Grip, Control Lever 3/4" (PTO, AIT)
Knob, Teardrop special
Knob, Shift Lever

Knob, Lever

Knob, Hand Lever

Hand Grip, Hydraulic

Grip, Hand Control Lever
Grip, PTO - Molded Vinyl
Grip, Hand Lever (clutch)

Fuel Stick, R& U
Fuel Stick, Z
Fuel Stick, G

Plug, Oil Drain 7/8-18 UNS Hex Hd

Seal, Oil Drain Plug 7/8

Spring, Hydraulic Linkage UB

Rod End Kit, 1/4-28 Yoke Adjusting

Washer, Governor Control

Cable, Choke and Shutoff - 84" long
Plug, 1/8" NPT Brass

Bushing, Rubber 3/8 x 1-3/8 OD

Cap, Air Intake 1-3/4"

www.classictractorhardware.com

Classic Tractor Hardware
1/4" SAE Std

spark plug wires, 2 or 3 per tractor

fender fuel tank - 8/tank; 1800 & 1900 platform
'55 series; black powder coated, w/ mounting h
for two fenders

3D printed

platform mount replace by 30-3161757 (3"OD)
black powder coat painted

black powder coat painted

black powder coat painted

MM fender panel, 8 per; sold in pack of 8
rubber mount, 7/16 bolt, large washer; 4 per fe
seat and fuel tank mounting

T-bar seat suspension
includes shoulder bolt 159873A (2)

also 10A7077
5/8 ID, hydraulic lever

3/8-24 thread

transmission, PTO

throttle, 3D printed

3D printed; also 30-3020940

PTO & A/T; 3D printed from TPR

for PTO and 2-speed; replaces 10A24804 and
hand clutch, 3D printed from TPR

13.00" long, 2pc
11.50 long, 2pc

engine oil drain
$3.00 Steel, $4.50 Alum

Throttle linkage; kit includes clevis pin, cotter pi
1-1/.2" OD

Made in USA, 0.187 covered conduit, 0.062 SS
carburetor drain plug

radiator mounting

Page 2 of 4



Catalog

33 - Engine Exhaust Clamps

Jet Star (early), Jet Star 3

335, 445

R, Z, M-5, M602, M670

Z, U, G, Gvi, 5 Star, Jet Star (late)

SSC2030
SS8C2530
SSC2780
SSC3030

2155, 2655, G705, G706, G900, G100 SSC4280
34 - Engine Exhaust Rain Caps

445

Z, U, G, 5Star, Gvi, M5, M602, M670
335

JetStar, JetStar3

R, ZA, U302

335

1164
1166
1162
1163
1165
1182

G705, G707, G900, G1000, G950, G101169

40 - Drive Train

JS3 and up 10A19825
335, 445, 5-Star, Jet Star GM196644
G1000V, M670 10A25496
Gvi, G704-G708 10A14520
50A4441 engine oil drain early models; 1172
(G955, G1355 1173
(G955, G1355 30-3000419
U302, M670, G900, G1090, G1000V, 50A770
(G955, G1355 1170
(G955, G1355 S2698
(G955, G1355 30-3176835
(G955, G1355 1027
50 - Hydraulics, Hitch
30A1070
(G900, G1000, G1000Vista, G950, G10 10P3982
many 1302
many 1303
(G955, G1355 30-3017982
(G955, G1355 30-3017990
30-3032663
60 - Electrical, Lighting
(G900, G1000 10A22064
U302, G900, G1000, M670, JS3S, U30 10A23729
Jet Star 3, U302 35A5283
U302, G1000V, M670, G950, G1050, 1272
many 1174
many 1175
many 1176
many 1205
159666A
many 1206

(G950, G1050, G1350, M670, G1000 Vi 1247

Bill Martinson 701-238-1143

Clamp, Exhaust 1.88 (1.830-2.030) -
Clamp, Exhaust 2.25 (2.330-2.530) -
Clamp, Exhaust 2.50 (2.580-2.780) -
Clamp, Exhaust 2.75 (2.830-3.030) -
Clamp, Exhaust 4.00 (4.080-4.280) -

Rain Cap, 2-1/4" (2.25")
Rain Cap, 2-3/4" (2.75")
Rain Cap, 1-3/4" (1.75")
Rain Cap, 2" (2.00")

Rain Cap, 2-1/2" (2.50")
Rain Cap, 1-1/2" (1.50")
Rain Cap, 4" (4.00")

Cap, Shift Lever Boot
Plug - Pipe, Ctsk. Sq. Head, 1-1/4"

Plug, Drain 3/8" - 18 NPT, Magnetic Sq. Hd.

Spring, Parking Latch

2030
2530
2780
3030
4280

Classic Tractor Hardware

extension for S55, 550

muffler; single bolt, pulls around for best seal
muffler; single bolt, pulls around for best seal
muffler; single bolt, pulls around for best seal
muffler; single bolt, pulls around for best seal

Donaldson: zinc plated; nylon stop for quiet op
Donaldson: zinc plated; nylon stop for quiet op
Donaldson: zinc plated; nylon stop for quiet op
Donaldson: zinc plated; nylon stop for quiet op
Donaldson: zinc, silencer

Donaldson: zinc plated; nylon stop for quiet op
Donaldson: zinc plated; nylon stop for quiet op

transmission filler plug
transmission drain

Plug, 1/2 - 14 NPTF Sq. Hd. Magnetic Ceramic Dis S1929, 2-speed, 3-speed, and transfer case oil
Plug, 3/4" NPTF Sq. Recess Magnetic Ceramic Di 106866A; transmission drain

Plug, Oil Drain 1/2 - 14 NPT Ctsk. Hex Skt. Steel

O-ring, Clutch Adjusting Plug 1-1/2" OD

Sight Gauge, 1/2" NPT

Plug, Pipe 2" Ctsk. Hex NPT

PVC Closure, PTO Valve 2-3/8 ID
Clamp, Hose #40

Pin, Chain 1/2 x 1-7/8

Plug, Vickers VTM42 Power Steering Pump

Male Dust Cap, 1/2" Hydraulic Coupler

Female Dust Cap, 1/2" Hydraulic Coupler black

Sleeve, Tube 3/8" x 2"
Sleeve, Tubing 1/2" x 2-1/2"
Sleeve, Tube 1/4" x 2"

Switch, Neutral Start
Switch, Neutral Start
Switch, Neutral Start
Switch, Neutral Start - pedal
Housing, Lighter

Cap, Lighter Housing
Plug, Lighter

Lighter Assy

Boot, Lighter

Socket, Implement Light
Flasher, 2 Terminal

www.classictractorhardware.com

PTO/Rear End check plug

rear end
PTO adjustment hole

PTO valve closure

Vickers 375094

clutch, O/U, brake
Replaces 158152AS

Replaces 158447AS

MM 10A4974, OL 101726A, 1K-7365, 1KA7365

replaces 164181A
Page 3 of 4



Catalog
many

61 - Fuses

U302, G900

U302, G900

63 - Battery Bolts

(G550, G750

70 - Steering

M670, G900, G1000, G1000V, G950,
71 - Steering Wheel Nuts
letter model steering wheel

335 thru M670

(G900, G1000, G1000V, G950, G1050,
80 - Frame, Wheels

10A863

10A7573

90 - Cab

(950-G1350; G955, G1355
(G950, G1050, G1350, G955, G1355
A4T, Oliver 2655

98 - Merchandise

Bill Martinson 701-238-1143

1124

10A21880
1159

108021A

10A14477

GM114500
GM219753
10A31498

1K736
1H706A

1283
1274
30-3091899
1287
20-0005871

1253
1335
1290
1279
1280

MM
Battery Mat, 8"x14"

MM Holder, Fuse - 12" 14 GA Wires
Fuse, 1/4 x1-1/4 AGC

Bolt, Battery Box 1/4-20 x 4 J-Hd
O-ring, Steering Wheel Emblem Seal 2-3/8" OD
Nut, 7/8 - 14 Hex UNF

Nut, 3/4 - 16 Hex Jam (915090)
Nut, Steering Wheel 13/16 - 20 Jam UNEF

Classic Tractor Hardware
protects battery tray, absorbs & neutralizes acid

no terminals
3, 15, 20, 30 amps

elastic nut

steering wheel
steering wheel
steering wheel

Bolt, Frt Wheel Rim 1/2-20, 90 deg, Hex Taper, 1" 13/16 hex head; MM 10A863, White 1K1669
Bolt, Frt Wheel (9/16 - 18 x 1-5/32, 1-19/32) Hex T 7/8" hex, 45 deg taper

Weatherstrip, Inline Self Seal Glass
Seal, Cab Door - 25' roll

Door Bottom Gasket

Moulding, Edge Trim (per foot)
Mount, Rubber Cab

Flag, MM

Flag, MM Finest

Stocking Cap, MM

Switch Plate, MM Single Toggle
Switch Plate, MM Double Toggle

www.classictractorhardware.com

90' per '55 series cab; sold in 50' rolls; 20-0003
25' for '55 series cab doors (143"/door); 168" fo
172" x 1" x 12" w/PSA

2255, cab door

3'x 5'indoor use
3'x 5'indoor use

powder coated, UV printed, 16 ga. Metal, black
powder coated, UV printed, 16 ga. Metal, black

Page 4 of 4



